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Question Number : 1 Question Id : 5500532241 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Plant that possess characters like ramenta, archaegonia, circinate
T° V0L, e.eéz)??boar, SYSSvvaDH TR0 $HAD dws),
Options:

Pinus

Putis

1. %



Dryopteris

SAIrD65
g =

Funaria

Q)Jé@cwv
4, %

Question Number : 2 Question Id : 5500532242 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Identify the correct pair from the following

A. Golden algae - diatoms
B. Trichodesmium erythrium - Red Sea
C. Kieselguhr - Chrysophytes

D. Red tides of Mediterranian sea - Dinoflagellates

&2 308 TP o) VT S (oL

A, aorrdddord 3deren - COIPO eV
B. @563y abo Jogavdy - DY DIV
C. 3¢ 16 - 39 25y

D. S0E{ET° DBVERD A=Y LD - &S TS e

Options:






,« ABC
.« ACD

A « ABD

Question Number : 3 Question Id : 5500532243 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Assertion (A) : Fertilization in cycas 1s called Siphonogamy and Zooidogomy

Reason (R): Male gametes are multiciliate and carried by pollen tube,

ANB0 (4) 1 20 & 266 DUGSER o @aNEHD 80 PHSAD Wk,
5600 (R) @ dada smen e 3Daiuzren 80k HT° 98

WEDODRIETEOD.
Options:
Both A and R are true and R i1s the correct explanation to A.

P A H08a30 R 20 D8aHD 08030 R 908 A 20 28 DdHdea.
1.

Both A and R are true but R is not the correct explanation to A.

., A 08ain R a0 28ahiade), 5°A R 0908 A 0 200 Do S°e.
2.



A 1s true but R is false.

A 2338, 5°d R 8.

A 1s false but R is true.

L% A é@b’ 5°Q R 2838.

Question Number : 4 Question Id : 5500532244 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:O0
Identify the organisms based on their cell wall characteristics such as pseudomuretn,
mycolic acid. stiff cellulosic plates. chitin
ArESarBS , MEDE o, GED DRV’ Duse, FAS K g xS
oo SO RO (B0,
Options:

Archaebacteria. Dinoflagellates. Fungi, Actinomyces

e38) eS80, ESFBTE e, 3Dogren, BTV

Dinoflagellagtes, Actinomyces. Archaebacteria. Fungi

ESFBIES e, 33T, e38) 3605, 3Dogren

Actinomyces. Dinoflagellates. Archaebacteria. Fungi

23382020, ESPBTE e, e58) ergbair, 2Dogren



Archaebacteria, Actinomyces, Dinoflagellates, Fungi

e38) 63605, 3TV, ESFESE e, 2Dogren

Question Number : 5 Question Id : 5500532245 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Find the correct matching
A) Carrot -- Flowers appear from the same point of peduncle

B) Cocos -- Flowers protected by the modified bract

)
C) Achyranthes -- Flowers appear in the varied lengths of pedicels.
D)

Cassia -- Flowers appear on the flattened peduncle.

253 2% S0 0

AT - DRy AT H0d0 P YY) 23 géo 200t D6 oR)

B) §5%0 - drarodto 3083 :Q)iqb:g)éboée Zg)ﬁ”bw 88,008 ¢IST GotTon
C) edorogsS -- :@?ﬁbw S8 Ty tie DA Do otran

D) satr - QsPyo Do Dy DTG 5080 JEYEID
Options:
| #AC

2ggAD

3%BC



Question Number : 6 Question Id : 5500532246 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Assertion (A) : Dry Dehiscent fruits are usually single seeded.

Reason (R): Tridax fruit is cypsella with pappus like calyx.
AB0(A) : B0y VATV Dered FATH[OT w8 JIdo $BA cotrow.

5600 (R) @ 865y Do S3riehyo erodd 58 DTrHPR DA Doy

Options:
A and R are true and ‘R’ is the correct explanation to “A’.

A 208050 R e 2309, ‘R’ 092008 ‘A’ £ 285 Dddes.

A and R are true but ‘R’ is not the correct explanation to *A’.

A 208050 R e 2839, ‘R’ 00008 ‘A’ £ 285 Dddes 5°E.

A 1is true but R is false.

A %356 5°d R ).

A is false but R is true

, A 829y DR 2536.
4.



Question Number : 7 Question Id : 5500532247 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

State this condition and plant that prevents both autogamy and geitonogamy in this

plant

) DO 20007D) , S B8 DO DO 007y FocodD G0 DS SoBosy

Z‘mégj.

Options:

Male and female plants mature at different times — Hibiscus

QDO 2BAK N DY 0 SE Terud’ DTS Sy — DR

Male and female flowers on the same plant — Gloriosa

28 A0, P DD, f’g D0 — HBAST

Separate male plant and female plants — Papaya

. DB DA, fl) D20 V0L : eS°3°QooJ
3. -

Male and female flowers on the same plant with different heights — Datura

28 QW) P DR, ?9 D0 S IS Gotob : BSrT°

Question Number : 8 Question Id : 5500532248 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Assertion (A) : Pollen banks can be used m crop breeding programs.

Reason (R) : Pollen grains can be stored for many years in liquid nitrogen.
A0 () : Hoeibenr erfoS w0 [ HudY SE[EArOY” EDAT oI,
$620 (R) 1 0 oISV b ¢ dG2IY o Gearden e

Bdabeacomrow.
Options:
A and R are true and ‘R’ 1s the correct explanation to “A’.
A 508050 R 0 285D, 208050 ‘R’ 09008 ‘A’ £ 28 ddde.
A and R are true but ‘R’ 1s not the correct explanation to “‘A’.

A 08030 R &0 280D, ‘R’ 570 ‘A’ 2 2380 DdHGea 5°E0.

A 1s true but R is false.

A 2838 520 R S,

A 1s false but R is true

A 829y 59 R 2838,

Question Number : 9 Question Id : 5500532248 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Bi-collateral vascular bundles can be found in these plants
A. Smilax zevlanica

B. Lilium candidum

C. Lycopersicon esculentum

D. Withania somnifera

BRI &6% T 9 oren $9A e B,
A. Dy erdy Zerdse

B. ddao sroddia

C. FED0Y57S IRV, Toldy

D. daedatr JQ) Ho°

Options :

- A, C

,«B.D

Question Number : 10 Question Id : 5500532250 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The structures that appear as “Beads-on-string” in the chromatin and the number of
base pairs are

arid & Qrow Hdyd ooy D $od Aoy wbaky T+
Téade {oow?g
Options:

Nucleotides. 100

SorSairSE wo. 100

Genes, 200
az,éo?gss_)w. 200

Kinetochore. 100

356 ew. 100

Nucleosome. 200

Jr§3r Y e, 200

Question Number : 11 Question Id : 5500532251 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A non-staining secondary constriction at a constant location of few chromosomes i
called

§9) §ardd od’ edboas) o, 2R gwoef o BLB0% Lotk

Qe 90rA)



Options:
Centromere

20¢5° asd

1, %

Short arm

. T erTVD

Satellite

FEITES

\'..‘?’

3.

Kinetochore

, 3°EE

4.

Question Number : 12 Question Id : 5500532252 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The bonds found in a polynucleotide chain between the mdividual nucleotides and
nitrogen bases

w8 D ArEaIrst & Fasd’ & ArSarSe e wéow ¥gad Tov

QG & worren &0V,

Options:
Peptide bond. Hydrogen bond

DDE 22080, &2 oo
. 3
'|. o



Hydrogen bond. Peptide bond

& wodo, DDE 0830

Phosphodiester bond. Hvdrogen bonds

., ._5”536305_03{85 830630, & 80650
3. '

Glycosidic bond. Phosphodiester bond

A5DES 2080, b"@bé NSICRARTATS

4. % ‘

Question Number : 13 Question Id : 5500532253 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Select the correct statement regarding the cell membrane from the following

ST 3 20220800 06 T Aod VFD T o808,
Options:

+ +. . . .
Na and K ions move across cell membrane without carrier proteins

| T8 FOS en Ghrore Na” todosw KT wosrg 693 adorbcvd

Proteins make up 60 to 70% of the cell membrane

|« SPSg0 60 t0 70% D B S8 BaeIISB00E



Lipids are arranged in a bilayered cell membrane with polar heads towards the inner
part

Gocty S8R0 SaaT6e” DG e d)d e &8 P w6\ otra

Fluid mosaic model of cell membrane was proposed by Singer and Nicolson
CONe 07, 2208 2020G00D FPOWE DEPoS AP Dorid HrBakw
PRCCENE AT B0

Question Number : 14 Question Id : 5500532254 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
The reason for the similar size of vascular bundles in Monocot leaf
ASBFD DB w3 DBATR0S” GG TV RYoPVL P60
Options:

Modification of epidermal cells

eTGEI0), SETR Erarocido oo

Mesophyll

Lo do

Bundle sheath

oW SEIRD



Parallel venation

eATP0eHE S0 mgzbéo.

Question Number : 15 Question Id : 5500532255 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Polyarch and tetrarch vascular bundles generally occur in these
BRI TE%0 805D W THE TITR0rL) JBS ddOTOD.
Options:

Monocot stem and dicot root.

DESTYD SP0to B &deeba& DA,

Dicot stem and monocot stem.

&gcﬁ@aﬁa SP00 B0 NEGVDR SToKo.

Dicot root and monocot root.

&Savéa DE 8030 VESTD DED.

Monocot root and dicot root.

DESTD2 D S8 &p@a DA,

Question Number : 16 Question Id : 5500532256 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Select the incorrect statements related to anatomical characters from the following
I) Endodermis is a part of the stele.

IT) Endodermis with casparian strips are found in the dicot stem.

I1T) Bulliform cells are found in the upper epidermis of the isobilateral leaf.

IV) Vascular bundles are open in monocot stems.

©088) T\ 02 VEFTFOL Vowodor) BB T(DOM & S08 & Qor)
R0} 80w,

) e90e5%\6)0 D060 Qogae’ ws arri.

IT) (e Socod’ wod$yd) demen 9%60&)& 2008 s0d).

IIT) 086 DS  erip(ss0 & end Swen S0,

IV) Q6% WO oo DY TS YoIren LU,
Options:

 SLEE

o« LILTI

LIV

, « LIV

Question Number : 17 Question Id : 5500532256 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Below reaction is catalyzed by the enzyme
$08 BB &BYBSOTT DIWOKD IS B
CO; + HO - H>CO3

Options:

Enolase

% ASSE

Aconitase

08 DS

Fumarase

;2)5:1383%

Carbonic anhydrase

50308 D rES

Question Number : 18 Question Id : 5500532258 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In plants sugar synthesis takes place in

20 08" B895) B0 VoL 2EOA PBEIHL

Options :



Grana of chloroplast

0858095’ D HdseTr R

Stroma lamella of chloroplast

3838e0DS D DB oY

Mitochondrial matrix

e arod s LGS

Stroma of chloroplast

oo Lx Telor S0 ) ABo0S); 3508

Question Number : 19 Question Id : 5500532259 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Transport proteins which act as the control points for solute movement are found in
ATV ) Aahogn Sogrevr HABH 6 T vy $9 658
Options:
Epidermis
el tnTe) Pobb)
- 2%
Pericycle

08HED00

2. %



Hypodermis
, DGBNCL O

Endodermis

i esoé%()déswo

Question Number : 20 Question Id : 5500532260 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the correct pair of aerobic and anaerobic nitrogen fixing bacteria respectively

332 FOS TPOWVPS DB TANETS EPIBADD © HOGR 2O

ST £8028
Options:
Azotobacter and Nostoc

eoa»,as“wvgc? 2080350 ,ovgvé

1.%

Bacillus and Frankia

L TR 0808 grosad

Beijerinickia and Rhodospirillum

arbodatir H8030 8& 2 Be
3.¥ % ?



Rhodospirillum and Azotobacter

& 209 HoBas 0923852 d
4, % ” 2

Question Number : 21 Question Id : 5500532261 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the incorrect statement with reference to the cyclic electron transport

308 B SO VTS L VowoBod VBT T o) &doaw

Options:

PSI alone is functional.

PSI 5,¢had0 Sasoradodd T &odo.

1.%

Occurs in stroma lamella.

i} CRICEY De9gere5” 28500,
2.

Membrane of stroma lamellae lack NADP reductase enzyme.

©50500S S e’ NADP g05866 JoBDd €oc.
3. %

Occurs when wavelengths below 680 nm are available for e excitation.

¢ GHZSSD, 680 1m S0l Sy édodég}éo 50 5700 OF[RIOVDRE BAH.
4.¥

Question Number : 22 Question Id : 5500532262 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Identify the correct statement about fermentation.
éwﬁébpés‘o 20200800 DBADD SEE
Options:

Glucose breakdown completely.

(eSS R0RDFOTT DD\ LoD,

Net gain of energy is 2 ATP and 1 NADH,
QEE0D ¥ erzdo 2 ATP 803w 1 NADH,

O 1s required.

0O 95080 &od.

An anaerobic reaction.

Foen bhlore s %"igioéotu.

Question Number : 23 Question Id : 5500532263 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Following is not applicable in terms of plant-water relations, if a seed 1s soaked in
water

28 DT WY THBEE 0 20 00 A Doworre Maahind, d08
TS $800

Options:

Water movement along a concentration gradient.

EEe D90 &%S° D ool

1. %

Increase in seeds volume

DSToeD DODDBHTEI0eS” DELAL.
2. %

Helps the seedlings to emerge out from soil

| dovgen Brdd bw‘)g’b ANITREVREN Y
3.

No affinity between adsorbent and liquid

DT\ DTS, B3 B¢ WokdS S
4.v '

Question Number : 24 Question Id : 5500532264 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

INH; +30, —2 5 2NO»+0, —P 5 2NOs

In the above reaction a and b are

2D BB 9GS a LBk b e DA



Options:
Thiobacillus and Nitrococciis

BAPeTDOD H08030 IEIEED

Nitrosomonas and Nitrobactor

DY TS Sk J¢erssd

Nitrococcus and Nitrosomonas

DETEEH 28030 I drard

Nitrobactor and Nitrosononas

DEerg6 H8a8 IV AroS

Question Number : 25 Question Id : 5500532265 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Choose the correct statements

a. Inability of seed germination due to immature embryo 1s called Quiescence.
b. Seed coats of Fabaceae do not absorb O, and H,O.

¢. Germination of tomato seeds is inhibited by chemical compounds.

d. Seeds of polygonum require exposure to low temperature.

ROGDHD TR (00

2. HEDSB Hocko S D wosHde 2GS S Sy Wotrd,
b. 8 Ha gderen 0) 2Bad HH0 dunE ).

C. 85°5008" Ddre) 905068 BRPODTR Do DB BosecHR.

0. DD DITren S el wirgddto.

Options:

] x a.b.c.d

2\%;,f:-b.c.d

3 % c.d

4 % Q. b.d

Question Number : 26 Question Id : 5500532266 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



A: Sedges and grasses
B: Trees

C: Phytoplankton

D: Free floating plants

Arrange the above in a sequence in primary succession in water

A of) S6e8 Bod D) 0 LB (i WSO
B: SyFren

C: Sy80057en

D: Q&5 SoSrE 20g) en

QB RS B0 D TA w8 BB wBGINHW.
Options:

L% B—-A—->D->C
,wC—>D—->A-B
,#«A>C->D-B
4% D-C—->A—-B
Question Number : 27 Question Id : 5500532266 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Assertion (A) : Epidermis of hydrophytes 1s useful for absorption and assimilation
Reason (R) : Inhydrophytes epidermal cells are devoid of cuticle and contains
chloroplasts.

Ao (4): N g e’ eriey 96,0 Fim Sobaty Pofisdne”
TS0 p AT Ve
600 (R) : 08 3wg) 0d'D erir| 36, ST ederdd Gok S8 6

Seudva $9A sotrow.
Options:
Both A and R are correct and R is the correct explanation of A.

_, A 8ain R 0 Gotr 939D, 2080k R 02006 A% ©39 D,
1.

Both A and R are correct but R 1s not the correct explanation of A.

A 8030 R &0 Bk 28D, 5°Q R 098008 AL 8 DHGes 5°¢0.

A 1s correct but R 1s incorrect.

A 238358 5°Q R é@b

A 1s incorrect but R 1s correct.

A 829y 5°d R 2358.

Question Number : 28 Question Id : 5500532268 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Free living microorganisms that feed on organic detritus and an example
P DoGaS DTV Je 26 § d(Emy Arg) &inen Sbakn emir.
Options:

Parasites. Salmonella

DT BHew, T’y der

Saprophytes. Bacillus

RPSSEERD, POV

Parasites, Rhodospirillum

DT BHew, BE 20D

Saprophytes, Xanthomonas

PTG, 2F0E DT

Question Number : 29 Question Id : 5500532269 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Assertion (A) : Beggiotoa changes its shape.
Reason (R) : Some bacteria change their shapes depending upon the type of

environment.

g0 (A) 1 BAGTL 3% drdrd) drdd SR,
600 (R) : HTREED) off §3) eredaren 3 drard) drdybotr

GO0 .
Options:
Both A and R are correct and R 1s the correct explanation of A.

A 5080350 R 28G5 208050 R 998 A £ 280D Ddde.

1, %

Both A and R are correct but R is not the correct explanation of A.

o A 08030 R 26qD3D ooty R 996 A % 8D e .

A 1s correct but R is incorrect

A 28G5 D R Sy

3. %

A 1s incorrect but R is correct.

|, A 8%y 5D R 20G008.
4.

Question Number : 30 Question Id : 5500532270 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Assertion (A): Loss or gain of a segment of DNA results in alteration in
chromosomes

Reason (R) : Alterations in chromosomes do not result in abnormalities

A0 (4): DNA &' Hir6a0 Gor wcsdore Sk S §ardoy & drdyw
oo

5680 (R) : Sardo © SR DS DT A6y

Options :

Both A and R are correct and R 1s the correct explanation of A.

_ A 20801 R 0 Gockr 2523, 20800 R 0k A% 058 Do,
1.

Both A and R are correct but R is not the correct explanation of A.

A 08050 R &0 8ok 288, 5°Q R 98008 AL D8R Dddes 5°¢k.
2. %

A 1s correct but R is incorrect.

A DBHE 3 R ).
v DBHE 5° SN

A 1s incorrect but R is correct.

N A e‘.’%’Q)D 5°Q R 2318.
4.

Question Number : 31 Question Id : 5500532271 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Genotype of dominant trait of plant can be determined by crossing F; hybrid with the
parent and the genotypic ratio is

F| 00$0°0) 6 209006" 20860 BURYYO WTGS VLY TV, B PP
Dg’dea z3o:1>&‘>:ma 8050 2ROJErD .i’)t.’qﬁ
Options:

Homozygous dominant trait, 2 : 1

Q08 2 eoi’ygé o860, 21

Homozygous dominant trait, 1 : 1

Roas) 2 eoiygé ogeo, 1:1

Homozygous recessive trait. 1 : 1

roawod:od&a woégé ege0, 1:1

Homozygous recessive trait, all are same

‘é)b.)cm.)déae, @oégé e 5.£30, @«i’)& D&AIrdo.

Question Number : 32 Question Id : 5500532272 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

At the end of translation the release factor binds to this codon to complete
polypeptide from the ribosome.

AT DNES At S°6%0 & 0B Doddod woBSR) ST D) Lod) D
D& %0 Debrese Boswio



Options:

s UAA

_«UUA

3 UAC

4$@UCA

Question Number : 33 Question Id : 5500532273 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Give the nucleotide sequence in the mRNA for this sequence of amino acids given
below

408 Benadd BRI B HEH $5rS Dorodod Ar(SaIrel © S

$87°Q) Bud0C..
Met - Phe — Arg— Gly -Phe

Options:

| ¢ AUG—-UUU = CGC -GGC—=UUC.
, % AUG-UUC -CUU -GGC -=UUC.
3 ® AUG-UUU -CUA - CCA - UUA.

4 % AUG-UUA - CUA - CCG-UUG.



Question Number : 34 Question Id : 5500532274 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

These are having the ability to replicate within the bacterial cell, independent of
control of chromosomal DNA.

30658 DNA esanod’ ooz 2 Sodorr ergBosr S0t 9350 2hEd
33 68 DA dotod
Options :
plasmids and virus
L TOLED 08050 DED e

1.

plasmids and bacteria

o), &> DB erS6asr
2. % ' i

plasmids and bacteriophage

) &> o83 ESBBIDL
3.

nucleus and plasmids

SoggSa o8 ) Ed

4. % i

Question Number : 35 Question Id : 5500532275 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Identify the correct combination.

A. Agrobacterium tumifaciens — vector for transgenic plant.

B. Escherichia coli — selectable marker.

C. Thermus aquaticus — Taq polymerase.

D. Bacillus thuringiensis — BT. Toxin.

2BaD Jodgwr HBoridw.

A. eff erg0aDd) € SISy ~2R0§ HOHGS DY VL T,
B. J3) Jaatr §& - dows Rotialy 20°6). 8.

C. 3G es575eisd — Taq D05,

D. erde cj)doa%ai)f% - BT. éyébé.
Options:

,vABD

, « ABC

3 % ABCD
BCD

Question Number : 36 Question Id : 5500532276 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The introduction of nematode specific genes into host using agrobacterium vectors
causes the following action.

I. Formation of dsRNA.
II. Production of sense and antisense RNAs in the host cells.
[II. RNA mtermediate not formed.

IV. Silencing of specific mRNA of the nematode.

off 38050 TEPTVRDET A0 AAPEE DI 2D BEB 'S
0% DBV & So8 B[R0 2O,

I dsRNA déytoto,

1. wd@on Sog’ Dy, 0rotiddy RNA 68,8,

[T RNA 5065200 J6\¢5e.

IV. QirtS' 938 mMRNA DOy Soetomd,
Options:

L x ILILIV

, « LILTII

, o LILIV

, « LILIV

Question Number : 37 Question Id : 5500532277 Display Question Number : Yes Is Question
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Time: 0



Choose the wrong pair corresponding to selection of transformed cells
408 8" HBIGH0 DB SrPL H6E0 L W020A0E) VO BB HB0RYAN
Options:
BamH I site — tetracycline resistance

, BamH I 3%0 — S8&rp3d s

B galactosidase — inactivation of the enzyme

B roSRES — JoBo Jay,080) $¢
ed é’
2. % Rl

Ampicillin resistance — selectable marker

000D DFELS — DHbeso VoS Hre) 6
3. %

Insertional inactivation — Development of blue color

QO\BHS TSNS — D Do wDHB Bowow
4.&; o ed> £3 @

Question Number : 38 Question Id : 5500532278 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Ganga action plan in India is implemented by

P E3B%0S" o STT(ISE DEFPVS) RV DD &.
Options:
Ministry of irrigation.

DBFEBR H0JSS T

1.%



Indian Agriculture Research Institute.

2T EH0% qgaa»ow HOF 8D 03

Village Industries Commission.

T D8O SND.

Ministry of Environment and Forests.

DTDGE LOBAKD 90D IS T.

Question Number : 39 Question Id : 5500532279 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:O0
Assertion (A): Trichoderma polysporum produces cyclosporin A, immuno

suppressive agents.
Reason (R): It is used in organ transplant patients.

Ao (A): gg‘doz FOP) 00, 2EVB3 A e 8 IS irdotio ssvor
g0l DB 6D S,

60 (R):  wdaHS Srfyd 200 Bhod 96 edar .
Options :
Both A and R are correct and R 1s the correct explanation of A.

_, A 20800 R e Gottr 2393, 20000 R 03006 A 038 D¢,



Both A and R are correct but R is not the correct explanation of A.

A 58030 R a0 Godr 288, 5°Q R 908 A 28 DdHdes S°¢.

A 1s correct but R 1s incorrect.

A 2836 52 R &2y,

A 1s incorrect but R 1s correct.

A 82y 529 R 2538

Question Number : 40 Question Id : 5500532280 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Among the following mention diseases that have existed in the past but now showing
incidence and in new geographical areas.
$06 a8 ¢, PEK0 W 008 &0k 09y A\t ) g ¢ SoBakw
208 PHPS PATOY S0 B0k TR DD,
Options:
Re-emerging diseases : Tuberculosis
L m% WO DE TS 1 wred 3356"?050
Emerging diseases : Cholera

SHETOD IO DE T : SoT
2. %



Super emerging Diseases : SARS

DHBhorre a0 DE a‘;gc‘b : 5"53

Emerging diseases : Dengue fever

SETPeVD WO DE ST Gofirg 2 8o

4, %
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Question Number : 41 Question Id : 5500532281 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The incorrect statement for subspecies
0233 Doodowr) DTIE 5D SEENS
Options:
They are capable of interbreeding with other species

, 9D a6 23 2065 HRID0 2EDELLAD
1.8



They are geographically isolated population of species.

299 2B Vo DDHES VoA hoen

They show minor variations from parent population

0 RIE 2T ROy ATENRD BFEDRD

They are new species in making

9 SAITBHSOD) §& arddoen

Question Number : 42 Question Id : 5500532282 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:O0

The equation which explains relation of species — area on logarithmic scale
2S00 — DG VOWOGBNR ROBEATH ), e0p Ao L0
Options :

L logS=C+logZA

L logS=logC+log Z

. logS=C+ Z logA
4,



Question Number : 43 Question Id : 5500532283 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Life span of blood platelets is

ESDOSEL B SPED

Options:
5 -9 days
5 _
Lo 9 Faren
1 —2 days
1 —2 &eren
2. %

20 — 40 days

20 — 40 Seren

3. %
35 — 50 days
35— 50 Saren
4. %

Question Number : 44 Question Id : 5500532285 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Assertion (A): The activated osteoblasts start deposition of mineral material to join
fractured bone

Reason (R): The major part of inorganic matter of bone is collagen
280 (4): BIV0 DoAY BRAIPEr 0 PAITTVR 2 Sated dios

e90B0A.
5680 (R): e.o?ge.‘ieg') 9 W86\ Do Srad
Options:

Both A and R are correct and R is the correct explanation of A.

A 08030 R 20 Godar 280, 0803w R 9008 AL 23 DHd¢ea.

1.%

Both A and R are correct but R 1s not the correct explanation of A.

A 58030 R a0 Godr 288, 520 R 09808 AL 28 DH6E 5°¢0.
2. %

A 1s correct but R is incoirect.

| » AR08 5D R ),

A 1s incorrect but R 1s correct.

_ A 829y 579 R 2038
4.
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Time: 0



Choose the correct statement among the following
& 308 T°eS” BB T oS
Options:
A group of cell bodies in the central nervous system is called nucleus

508 > DS €0l St DRFHFORY Sogiso Botrdd
1.

A group of cell bodies in peripheral nervous system is called nucleus

H880%H =& bsas‘gesﬁ G0G SEaBET DITEFOLR B0S0 otrEd

A group of cell bodies in the central nervous system is called ganglion

S0d m&bségée &8 SEdiT DATTIOR TR0 90trEd

Group of axon in peripheral nervous system 1s called tracts

0BB0DH TABHVE’ Gof SIS L DAFTVR TALTT D Wotrd)d

Question Number : 46 Question Id : 5500532286 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Aristotle’s lantern 1s present in
B OS erodth HJF° Yo
Options:

Echinoidea

v QST OGO



Holothuroidea

75 doorand ol

Asteroidea

fb:gmwéo:ir

Ophiuroidea

200030T0E O35°

Question Number : 47 Question Id : 5500532287 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Match the following body parts of earthworm with respect to their segments

Part Segments
A. Gizzard i4% 5" & 6"
B. Pharyngeal Nephredia if. 17% & 19®
C. Nerve ring iif. 8 & 9™
D. Accessory glands iv, 3" & 4™

TAFANS’ Bir ePTrO) T8 DOATOR) 90008 2DEIAN

epian PG
A. @9062660 LAY S
B. (o0 57 e ii. 17, 19"
C. ¢ Heoako iii. 8, 9"
D. e9s02006 (focoen iv. 3%4®
Options:

Al Bi Cii. Div
Aii, Biv. Ci Diii
Aiii, Biv. Ci, Dii

v Auni, Bl Civ, D

Question Number : 48 Question Id : 5500532288 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Assertion (A): Hemichordata 1s now placed as separate phylum under

non-chordata.

Reason (R): The stomochord of these animals was once believed to be the

notochord.
Dydo (A): rQTTERR QYYD &3z ws 0B Sdor So\&

o860 (R): & 208D ‘eg)earwg A0 WS\ DyRD0FM LT,

o e
Options:
Both A and R are correct and R 1s the correct explanation of A.

A 508050 R @0 S0t 285, 08050 R 088 AL 088 ddde.

1.%

Both A and R are correct but R 1s not the correct explanation of A.
. A 0803w R a0 Goklor 28D, 5°Q R 9008 AL 28 DdH8E 5760,
2.¥
A is correct but R 1s incorrect.

A is incorrect but R 1s correct.

Question Number : 49 Question Id : 5500532289 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

The heart receives only deoxygenated blood in
& 308 OB B LU’ ol Sdvo v Erd 63 $9h cotwod
Options:
Aves
| x DSOW
Mammals

, % 8o

Fishes

3\},63303

Question Number : 50 Question Id : 5500532290 Display Question Number : Yes Is Question
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Time: 0



Assertion (A) : Amphibians remained as imperfect group
Reason (R) : Although, Amphibians invaded land, they could not adapt completely

to terrestrial life.

A0 (4) : EHODBTRD 28 VAP ddurTar DAY afraw.
5660 (R) : £B00STR0 SOEG DdPotitio BB begasabesé, QPO AT

EJTRS 90T DETE.
Options:

Both A and R are true and R is the correct explanation of A.

A 508050 R B0t 30, 8050 R 0008 A € 288 ddse.
1.¥

Both A and R are true and R is not the correct explanation of A.

. A 208050 R Botir 2303, 50 R 02088 A £ 230 Db .
2.

A 1s true and R 1s wrong.

|« ARSI 52 R 2858 s°¢.

A is wrong and R is true.

, x A RIS 5 5o R 2338.
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Identify the group in which sinus venosus is present but conus arteriosus is absent.

& 308 TS DTG S0, B3R Foan) S H0DD e
Options:
Amphibia

. &R00NTeD
1.

Reptilia
2-'08" abww

Mammals

L% L8070

Question Number : 52 Question Id : 5500532292 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Slowest and most primitive type of locomotion in Protozoan is

TEEDS 08" VS JBYBD, FBS Frow HDo

Options:

Flagellar movement.

SFR030S Kduo.

1. %



Amoeboid locomotion.

eTroVE Kedo.
2.9

Ciliary locomotion.

395 asnd davdo.
3. %

Undular movements.

S0 Beddo.
4. %

Question Number : 53 Question Id : 5500532293 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Choose the correct statement regarding ciliary movement
3510 IS DoeroHow) DB oBo
Options :

Longitudinal cilia exhibit synchronous movement.

Qe HERT' 3Dgen d¢ 598 LoD BT D6 Fow.

1.%

Transverse cilia exhibit metachronous movement.

¢ HERE'D 3Dgen HEDS LobRY HLTDY VBB TFow.

2 E



Flagellar locomotion is faster than ciliary locomotion.

" $T°33050 3D KT VL0 D HoBSIIE .

Cilia bring out the movement of either the organism or the surrounding fluid.

_, 305 42 $6B83 S0 wiwr &) I8 S6B srer HbF .
4.

Question Number : 54 Question Id : 5500532294 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The following is comparable to a professional dinner guest
& 208 e BAD Doty Hawdo HBT erdodd AAS e
Options:
Competitive organism

23%3@@5 29

Commensal

DS g 2

Parasite

amé‘laéb

3.9
Predator

DEHES 2D
4, %



Question Number : 55 Question Id : 5500532295 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Identify the correct option
Statement — I : Excessive dosage of cocaine causes hallucinations

Statement — II: Intake of cocaine does not cause euphoria

280D HAYTD) ABoA0
gef — 1 b ArEEEes SLos 0) £33 grods se6ndB08.

SECIEIRESIEURINEN $dfocdedd.
Options:

Statement I is correct and II 1s wrong.
v o] I D0DEG oot gy I DOHE 57

Statement I 1s wrong and II 1s correct.

Te(a] 1 2D 5260 52 Togaf I 2BHE
£

Statements I and II are wrong.

argangen I udasw IT Sodr HJHD 572

Statements I and IT are correct.

Teaen I 08030 II Godke HBHD
x P3P
4, ! =



Question Number : 56 Question Id : 5500532296 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Hypertrophy of RBC and spleenomegaly are the symptoms of
GBS SEPen DG wdco HBAN RiFo DHDEY & TG VLD
Options:

Malaria

v ST 8osr

Amoebiasis
, % 0 DDOSTDD
Filariasis

DSBS

Typhoid

o Saroné

Question Number : 57 Question Id : 5500532297 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Assertion (A): Ascaris lumbricoides 1s a facultative anaerobe.

Reason (R): Ascaris performs either aerobic or anaerobic respiration depending on
availability of oxygen.

Adydo (A) 1 7,80 00D aneid PEDS vk FHASr £,

5600 (R) : 2 038k ag) ?33“'65«?0 Ok G T 080 TS

28D0LVE .

Options:

Both A and R are true and R is the correct explanation of A.

, A 308030 R Bocr 233, 208050 R e A £ 20 ddoee.
1.

Both A and R are true and R is not the correct explanation of A.

_ A 2080%0 R Sotkr 033, 5 R 98088 A £ 283 Db see.
2.

A 1s true and R is false.

. A DBD8, R 2336 5°6%.
3.

A 1s false and R is true.

|« ARBIG 5, R 0338
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Time: 0



Choose the correct option

Column - I Column — I

A. Daphnia 1. Basking

B. Desert Lizard i1. Blubber

C. Aquatic mammals ii1. Cyclomorphosis

D. Sea gulls iv. Eliminates salts through nostril

28D TAD Ixv) Edvdw

o8 —1 a8 — 11
(A} [A]

A mi:clo:ir i e.r?oboﬁ
B. 8 209 ii. 20206
C. 230G &8aen iil. FPedoes ErDISAD
B S 5N V. RS T DO 0B DGR
Options:

o A—il,B—iii, C—iv,D-i
1.
, % A-i1i,B—-11,C—-1,D-1v

, wA—iil. B—i, C~ii.D~iv

. % A—iil, B—i, C—iv.D~ii
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Time: 0



Example of anadromous migration is
RITPLE VR HDVVL &I SEd
Options:
Salmon and Hilsa
FoLd Sodakn ey
1.¥Y
Anguilla

, 300(Yr

Catla Catla
ge e
3. %

Labeo

4 % S

Question Number : 60 Question Id : 5500532300 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The factors favorable for increase of binding affinity of oxygen with haemoglobin
@3yad & FArHDD § ed) ot bomgvésc) DOLL VROEIVR O
Options :

v highp® - lowp®® - high p?

. lowp® highp®:, low pt
2.



. highp® highp®=. low p"
3.

. low p% lowp®, high po
4.

Question Number : 61 Question Id : 5500532301 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The chylomicrons are broken down to fatty acids and glycerol by the action of the
enzyme

& 0B 6] S IT'DTS 0 T Behren, HATES M oo

Options:

Steapsin

DO3T°D '3«5

%%
Lipoprotein lipase

S TOS ToH
2.V

Intestinal lipase

| 0860 F0F
3.

Gastric lipase

TS Sod
4.% =



Question Number : 62 Question Id : 5500532302 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Function of aldosteron is
365" HorD B0, D&
o e
Options:
Secretion of water and NH3 mnto urine

} DD 8050 R AAET LurBods’s HDodeen Bobio
1.

Secretion of H and K™ ions into urine
>EES (H) dvdatn Teracho (K) 0oird 0k Srgoss's 9dodetn
wo&o

Stimulation of reabsorption of HCO; from urine

Sorgso dood HCO; 5% heady Hotdcto.

Stimulation of reabsorption of Na™ and water from renal tubules.

20rg b g0 Fdoo (Na') Su8akw Db 5% aeasd dotco.

Question Number : 63 Question Id : 5500532303 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

pH of urine

Saorehad0 pH DLVD



Options:

v 6.0
, « 8.0

2.0

, % 40

Question Number : 64 Question Id : 5500532304 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Assertion (A): The alkaline cerebrospinal fluid is recycled four times per day.

Reason (R): Recycling of cerebrospinal fluid facilitates the removal of metabolites
and toxins from brain.

Adydo (4) : 36 (@ 3y DS 9O Bar Teurh FE ddgabo
WO,

560 (R) : ey, DEE0 DRSS SoD & GSyT) e, D DT

G 000 S0A0ILEIR.
Options:

Both A and R are correct and R 1s the correct explanation of A.

| A6ain R o0 Bockr 250D, 08050 R 02098 AL 955 D6t



Both A and R are correct but R is not the correct explanation of A.

A 508030 R @0 Goctr 28R, 570 R 98008 AL 288 JdH8e 5°¢.

A is correct but R is incorrect.

A is incorrect but R is correct.
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Time: 0



Identify the correct matches

Column -1 Column —II
A. Tetany 1. Autoimmune disorder
B. Myasthenia gravis i1. Decreased bone mass
C. Gout ii1. Rapid muscle spasms
D. Osteoporosis 1iv. Accumulation of uric acid in joints

DO S HBotdod
D838 — 1 H83g 11
(A} LA
A. 8000 i. dodvo BHEIB &< o) &

B. 5005rR08r AR i Jdwgw Frogd SAY DL

C. 7 iii. Sooreres’ SA 268 DoSTren
D. 5@ B0 iV. S9&° 68 o oddo e
Options:

$$A—iV.B—iii.C—ii.D—i

A—1,B-iii,C-ii,D—1v

2. %

. A—iii,B—i,C—ii,D—iv
3.

o v A—iii,B—i, C—iv, D—ii

Question Number : 66 Question Id : 5500532306 Display Question Number : Yes Is Question
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Time: 0
B - Cells are stimulated to proliferate and differentiate into memory cells by
B - drren D8 S0 D daad sdakn IBB6n Sod 28 SETRVT ATEOR.
Options:
Complement proteins
DORPES T
1. ¥
Natural killer cells
5 % VTP TPoBS SETPD
Interleukins

Q086 wsé& (3%
3.V

Interferons

o Q085 DT eV
4,
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Identify the correct option

Statement —I (SI) — Hypo secretion of Cortisol results in low blood pressure.
Statement — II (SII) — Elevated levels of Cortisol leads to hyperglycemia
RBALY D)5 Dok

T~ 1 (ST) — 506 Fredadw 359 Sdvo DR Bgdcd0 Sodod.
T{of ~ I1 (SI) - S8 Fon D0 S0 TD6 G0 o8 SowaY.

Options:

Statement - I and Statement — II are correct.

v rgadf - I oot argang — IT Soctr DBHD.

Statement - I 1s wrong and Statement — II is correct.

. 5 - [ 280G 57 2o8ain Tejady - I 281G,
2.

Statement - I is correct and Statement — II 1s wrong.

L S5 - [ 280G 0803 a7§ay - I DBDE 5.
3.

Statement - I and Statement — II are wrong.

aegang - I u8an gy - II Sodlr 230D S°.
4. %
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The presence of HIV in the blood of infected person cannot be detected during
HIV 20goes $18 692088 360 63D thBocs sordn
Options:
Window period
> gTork-1 bssb&
Incubation period

5 % IAEG sc00

Prepatent period

23085 S0

&(9’

4

3.%°

Refractory period

QST 3553.‘)@
4.% o

Question Number : 69 Question Id : 5500532309 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The hormone that increases blood calcium levels by promoting absorption of Ca™
from gastro intestinal tract

& 8% adtrogd v Mod sdabo Famw DBed bged” Ca” ol
&0 B08.

Options:

'I %



Thyroxin

Calcitonin

2. %

Calcitriol

529, LBTES
3. -

Catecholamines

, 85000 w
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Time: 0



Match the following events during pregnancy with time

List I List II
A. End of 4 weeks 1) Developments of limbs & limb digits
B. End of 8 weeks i1) Hair on body & separation of eyelids
C. End of 12 weeks i11) Formation of heart
D. End of 24 weeks iv) Formation of external genital organs

(Sdawdeaéﬁfb 0DV DODBNE BAEDEEEW.

catAb | ) 11
A 4 orore DGR 1) orren 8 DYy H)8 Fodot
B. 8 orre) Q6 if) 3803 Bren dochawy, 0B\
letelne
C. 12 o070 DH6S i) ycsatoo A6 EaEd0E
D. 24 orore Qd8 1V) &73 ATTOTPRL A8YEok
Options :

A—-i1 B-1C—-iv D-1
2.V
¢ A=11 B—i1 C=iv D-1

3.

s A—1i B—1iv C—11 D-1
4.

Question Number : 71 Question Id : 5500532311 Display Question Number : Yes Is Question
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Time: 0

Find out the correct transportation of sperm cells in male reproductive system
DR DAAND ;553:366 D Do BFErTY CIVE), STEF 2HR0E?
Options :

Seminiferous tubules - Rete testes - Vasa efferentia — Epididymis - Vas deferens
Ejaculatory duct — Urethra

2ET S TYe — B8 J0iy0 ~HF IS - IDEED - 30§ Terg

v QOB TR ~ 980

Seminiferous tubules - Rete testes — Epididymis — Vas deferens — Urethra
Ejaculatory duct

308 TP\B8 TY0 ~ B8 AW 0 T GG - B0F TS - oS0 — RO

T
2. %

Seminiferous tubules — Vas deferens — Rete testes — Urethra — Ejaculatory duct

2§ T\(E Tren — B0 TIPS - 88 S0 ~ Do — 0N TEA

3. %

Testes — Semimniferous tubules — Ejaculatory duct — Rete testes - Vas deferens -
Vasa efferentia — Urethra
Sy = mg%ag TR0 ~ R 0R VAN — B8 A0y 0 - 308 T -

|« WG TS —HdSo
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Time: 0

In surrogacy, the part provided by the woman for the development of some other
person’s embryo until full development 1s

o) arddied ?9 &% 3660 &' & ertiod 9S8 ?9 GAwg), Docto RoPgorT
AEAE=RS 5730 Sy008
Options:

Uterus

(ﬂU”e)%OZﬁOO
1.¥ |

Fallopian tube

S DAD Yo

Ovary
STALSER 1o

Oviduct

DB T

.
4. %
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Time: 0

Lack of clotting factor — VIII causes

8 5680 —VIII &°0 S0 2oZDotd 76

Options:
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Match the following

Tvpe Examples
A XX-XO 1) Birds, Reptiles
B. XX-XY i1) Moths. Few buttertlies
C.Z0-ZZ i1i1) Grasshoppers. Cockroaches
D.ZW-ZZ 1v) Drosophila
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In humans. sex is determined at the time of

A’ Do Dgedses & 23005020085° 280800
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Gametogenesis
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Fertilization
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Reciprocal translocation of chromosomal pieces between 9 & 22 chromosomes
leads to

9, 22 §3rd ermre 26,8 gﬁmoéd oy S0 geurh 6
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Cri-du-chat syndrome

5 — ¢ — 85 BoE S

1.%

Cystic fibrosis
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Sickle cell anemia
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Chronic Myelogenous leukemia
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Choose the incorrect statements regarding Hardy — Weinberg equilibrium.
A. There should be no migration

B. There should be differential reproductive success

C. Population should be large without random mating.

D. Mutations should not occur

6 — Do &b Argo Vowodiow) VS T JocHE K.
A, o0 S0 FErEdd

B. 2200 06§ 808 D5 &ord

C. arer HBSe0 bg&m &G, BdHen fogé‘)w 0BT

D. €& 00dTran adrisred
Options:

- A, C

,¢B.C

Question Number : 78 Question Id : 5500532318 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Arrange the following in sequence in relation to the origin of living organisms
A. Chaemo — autotrophs

B. Oxygenic photo autotrophs

C. Anaerobic heterotrophs

D. Anoxygenic photo — autotrophs

e) IV Ddbcierbé 208080%) $08 TP DA Feoes 206N,
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Match the following Biomedical techniques and their uses

ListI List I
A. X-ray imaging 1) Density of bones in Osteoporosis
B. CAT Scan i1) Diagnosis of breast, cervical cancers
C. MRI Scan i1i) Pneumonia, Tuberculosts
D. PET Scan iv) Diagnosis of pathological conditions of
body organs

& D) 0888 HESW, T8 EVWPIVR BB,
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Propolis is used by honey bee for
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If Young's modules of elasticity1s Y = bi . where ‘g’ 1s the acceleration due to
Sbt’e

gravity, ‘m’ 1s the mass, ‘" 1s the length, ‘b’ is the breadth, ‘t 1s the thickness and ‘e’
is the elongation. then the value of X 1
~ 2mgl*
odoh theago, Y =—— 9
Sbte "V

ey, ‘1’ dootso 26k ‘¢’ Foce ond X Jend
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. A AR ; iy
The distance s (in m) travelled by a particle is given by the expression 4s = 5t™+8t,
here t1s time in seconds. The acceleration of the particle is

)

28 S0 HAPeodd Grdo s (m &) &b 4 = 5+8t DSBS HjFHBINADE,
2g)¢¢ 1SS, & S0 g, Sdeao
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If the maximum range of a projectile i R, then the maximum height reached by the
projectile 1s

w8 HEDS0 abug) (B T R wand HEDS0 B (182 IS
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R
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The angle between two vectors (i+j) and (j+k) is

Goch &% (1+]) Lbasw (j+k) o ey Eeso
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" 2 ; . ; 4 v g
A Dall of mass 50 g moving with a velocity of 10 ms™ is hit by a bat and the ball
retraces back with a velocity of 20 ms™. Then the impulse on the bat is

@073 50 g ffo 8 8108 10 ms” Biawd $dar it B¢ Shac, 20 ms™
508 By Sreed3 1308 336 oD, eand & erjnd) SD
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The ratio of inertial mass to the gravitational mass of a body is

28 DAY RES] BO(T°3 008 HEST SO0V ] DS
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The force, F=(2x"+5x+4)Nis acting on a body. If the body moves from ~1 m to
+1m 1n the direction of force, then the work done by the force

28 SR F=(2x" +5%x+4)N w0 080t 6. & $300 oo 636" -1 m
00é +1m £ $69%, 2868 H
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The power of an engine which draws 1000 kg of water from a well of depth 9 m i
one minute is

; . 2
(Acceleration due to gravity = 10 ms™)

9 m &' o &2 d00d 1 A0 1000 kg $550°3 o IBI §& oy

:3":)09)50

(thdoexg o =10 ms™)
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A disc starts rotating from rest with constant acceleration and attains angular velocity
of 201ad ™ in 5 seconds. The total angular displacement during this terval is

N6 310108 D30 2O Aod Foeso Acsen DED w8 DY) 5 Do’

201ad s Eday 3Ry Tod. & 570 b}gé&é’ﬁ 2odo Sedad gm Zo%0
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Two particles of masses 2 g and 4 g are separated by a distance of 3 m. The moment
of inertia of the system of the two particles about an axis passing through the centre
of mass of the system of the particles and perpendicular to the line joining the two
particles is

2 g oo 4 g gforRoen o) Socd Stren 3 1 &0 S Bobed &) O,
Goct S $90 s voworr §i M G Bodo hore J'eh w50 Hlorr
569 DD 2SN G0

Options:
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A Dody executes simple harmonic motion under the action of a force F; with a
frequency n; and the same body executes simple harmonic motion under the action of
another force F with a frequency ny. If both the forces F; and F, act on the body
simultaneously i the same direction, the frequency of oscillations of the body i

Fi 500 9 Skt S0 a8 S0 1y PREYR[ed 6 iFrdLS o
Saocd) 8. b SR Fr wvo 5 Sokob 90 1y FoaRio 8 e
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A block A of mass 1.6 kg kept on a horizontal surface is connected to one end of a
horizontal spring whose other end 1s fixed to a rigid vertical wall. The spring and
block A system 1s executing simple harmonic motion with an amplitude of 10 cm.
Another block B of mass 0.9 kg is kept on the block A when block A is passing
through its equilibrium position. The amplitude of oscillation of the system of
spring, block A and block B is

28 &0 R8rods S0 P Goctadd 1.6 kg 3103 o w8 AL a8 £
RA7086 D)0f a8 D56 $ D)0f Tocks) DICR 208 GRS §3% vow He
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A hole is drilled from one end to other end of earth and an object of mass ‘m’ is
dropped down the hole. The gravitational force acting on the object as a function of

distance () of the object from the center of earth is

(Mass of earth = M, Radius of earth = R and consider uniform density of earth)

AP w8 D Mok B DI B Gogedwd’ m o3 o 2,8 SPA
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A metal wire breaks when a tensile force of 100 N is applied perpendicular to each
end. If the diameter of the wire is 2 mm, the breaking stress of the wire 1s

100N &0e 200 56 8 S id\3R0 Bockord. & Srf o), TR 2 mim
0, & O A8 VBN HOwwo
Options :
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A liquid of density 800 kgm'3 is used instead of mercury, in the Torricelli barometer.
The height of the liquid column is

(Density of mercury = 13.6X 10° kgm’3 and atmospheric pressure = 76 cm of Hg)
erBD) erdSE it wcienre 800 kem” Fogd o) ws Gdo &

EAPAOR &8 (95 Rowdno aog), B

(60 rogsd = 13.6x10° kam™ &rbosy Tordde aédo = 76 cm of He)
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o)

A 567 W bulb has a tungsten filament of length 40 cm and radius — mm. If the
n

radiation of filament is 81% of that of a perfect black body. then the temperature of
filament 1s

(Stefan’s constant, o = 5.67x10° WmK™)

)
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If AQ 1s amount of heat supplied and AW 1s the work done by the gas at constant
pressure, then the ratio of AQ and AW is

(y - specific heats ratio of the gas)

AQ 6T B &30 80k AW 26 ko 368 Trafn) B 2 wowd, AQ
080k AW diog), g

(7 -rosos DITro A3
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A Carnot’s engine can have 100% efficiency if the temperature of the sink is

28 50') aogo 0B0E). 5 100% ewond, ISeriato ang), et
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A gas is taken through the cycle A—=B—C—A as shown in the figure. The net work
done by the gas after one cycle is

w8 TOH0) DS P Deore A—B—C—A Sdab SrGoshd &5 520G 08. 28
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The number of rotational degrees of freedom of a diatomic molecule is
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A wave is reflected from a rigid suppott. The change in phase on reflection will be
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The colour which has the highest critical angle of incidence 1s
& 306 RS BSOS Lod S0 50 Do
Options:

Violet
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For a wavelength 670 nm of light coming from a galaxy moving with velocity V",

the observed wavelength is 670.7 nm. The value of V" is

V' Sriod Seoendd) w8 958 duodeo vod 670 mm Sdof 360 i 703

DHEIB08. 52 18I0 Bdort F80 670.7 nm. AN & So V'
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A conducting sphere of radius § cm has an unknown charge. The electric field at
10 cm from the centre of the sphere is 1.8 10° NC™. The net charge on the sphere s

5 em Qo o w8 xS Trg fido e Sods esddo God. Hvo Sogio Mool
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The figure shows a part of a circuit. The voltage across A and B is 4V. Then the
voltages across 2 uF and 1.5 uF are respectively

28 H00%0 8 Soth 2o D0 & SrHLdHd. A, B o e Sga 4V, ©900%
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Two equipotential surfaces A and B are separated by a distance r as shown i figure.
The work done in moving a charge —q from A to B i

(€. - permittivity of free space)
A, B &) Gotd 00 38) Seren T (6o’ Dhaod drdi S HESAND.
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In the given circut, the potential difference between B and D 1s zero. Then the value
of the current [ is

CANS S0k B, D o Vel 83“é3§om5 Btso B0 Lo DG Yiiro |
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In the given circuit, if the cell delivers maximum power to the circuit, then value of
Ris

AN 505085, 0LEN DTS B2 bvmgxal 2600 3938 R Jend

R R
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In a galvanometer, when the number of turns N becomes 2N and resistance R
becomes doubled, then

wosffﬁbéoééﬁ , < %o N, 2N 090002y 80k Aeso R 5802
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current sensitivity remains unchanged and voltage sensitivity doubles.
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Among the following, the quantity that is termed as gyro magnetic ratio 1s

(m. — mass of electron, e — charge of electron)
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Core of electromagnets are made of materials which have the properties
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low permeability and low retentivity
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The ratio of the flux-linkage to current is
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The ac current in a circuit is given by 3 sin(ot) ampere. The time taken by the

current to drop from rms value to zero 1s
w8 S00Hos" ac DA HaEro 3 sin (ot ) ampere @b&&éé&. DANE

D0 TS DV A0 %owbso QHRZ HE VA0
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The electric field of an electromagnetic wave propagating in vacuum is given by

ag kg X _ :
E=35cos (kx —4.5x 10"t) where E, x and t are tn Vi, m and s respectively. The
magnitude of the propagation vector is
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The wavelength of a photon 1s equal to the de Broglie wavelength of a particle
moving with a speed of 75% of the speed of light in vacuum. The ratio of the
kinetic energy of the particle and the energy of the photon is

w8 JFerdo aing), ddof 360, 3%y airgod 508 98 75% aS

DOIPEAosoR) w8 o g GePasd SB0ABT DS VATRD. Sy

$
GB0g) B2 338 bty Terdy dng) 338 o Ay

Options:

]3@1:1



Question Number : 116 Question Id : 5500532356 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The ratio of the shortest and the longest wavelengths observed in all the five spectral
series of hydrogen spectrum i

TE@ H8od"d Awdo ek $gb Frawd Hddodad Ty LB WY
édoﬁég"s&) DQA{:?

Options:

#

th
)
(@)

2§;311:300
. 11:600

11:900

Question Number : 117 Question Id : 5500532357 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The working principle of atom bomb
QIER) £3708N) ARV, D WOZD TSN
Options:

nuclear fusion

| % Sogs %080



nuclear fission

§OQS :)g)()@
2.V S

ionization

L 9030 SS90

annihilation

L% o0 BolEo

Question Number : 118 Question Id : 5500532358 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

In a transistor connected in CE configuration, the emitter current increases from
10 mA to 20 mA, when the base current increases from 0.12 mA to 0.24 mA. Then
the current gain is

CE Do’ 59 Sa0d) &6 6'D sord Doy parirdw 0.12 mA dood
024 mA % OB &rr6s Do P 10 WA &oc: 20 mA HBARA.
0B DANB) VT 50

Options:

« 41,

)

1

%)

, v 82.

s % 80.2



, % 96.4

Question Number : 119 Question Id : 5500532359 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The p-n junction which generates an emf when the solar radiation incidents on it 1s

6 5703 D0 Satbedo oo emf D &) o Sabre p-n Vo8

Options:
light emitting diode

57080 &r8 a3

1. %

zener diode

ﬁh‘lé Ea3ré
2. %

solar cell

, IS FEBTATe)
3.°

photo diode

sP03 A3
4,%

Question Number : 120 Question Id : 5500532360 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The waves that are used for line-of-sight (LOS) communication are
¢9yB85° RORT"AS &DAIT o SBorTen
Options:

sky wave

e35°% SHGorren

1.%
space waves
Bes SGorren
2.V
gl’OllIld waves
2o Sdorren
3.%
sound waves
28 Sorren
5% o
4.
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Question Number : 121 Question Id : 5500532361 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of radial and angular nodes of 4f orbital respectively are

4 e38yEPeS G30g), BEOHS 2080k 0 SE& © Vo[ G

Options:

-’O
)

#
[
P2

Question Number : 122 Question Id : 5500532362 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Work function of Cu metal 1s 4.8 eV. What is the approximate wavelength of
incident radiation required to eject electrons from its surface?

(h = 6.626x 107™]s)
Cu o axog), 5 pooko 4.8 eV. T 68800 od JVTS V) LOHHE
BOHEmRAS BBVED AP 3680 3origg0 oIy o’

(h = 6.626x107Ts)

Options:



% 500 nm

5 % 450 nm
, 400 nm
3.

258 nm

Question Number : 123 Question Id : 5500532363 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In normal oxides of group 13 elements. the ratio of element to oxygen is

(7D 13 Surose Pon 8FE 0f, Lredin 8o e3yad © IS

Options:

(0]

¥
[—
b

Question Number : 124 Question Id : 5500532364 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Which of the following 1s not correct with the property mentioned against them?

308 TS B 0hotkd AT ArDeR (07,3 VBB T°¢h?
Options :

I" > I>1T1:radius
. "> IsT ms&go

L1 > Be > B : first ionization enthalpy

Li > Be > B : 20068 90Brd3 00 o)oqrg)b
2.V

Cl > S > P: electronegativity

. Cl> S = P: e Z)cﬁosmé&s‘,ez‘s
3.

Rb > K > Na : screening effect

. Rb > K > Na : odQ8 Herdo
4.

Question Number : 125 Question Id : 5500532365 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The correct order of bond angles of H»S, NHs, BF;3 and SiHy 1s

H,S. NH;. BF3 20803 SiHy © 2006 Sere cing), 28600 $ivo 87
Options:

| HoS < NH; < SiH, < BF;



, NH;3 < H>S < S1iHy < BF;

L % H>S < SiHy < NH3 <. BF;

4 % H>S < NH3; < BF3 < SiHy4

Question Number : 126 Question Id : 5500532366 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The hybridization and number of lone pair of electrons on central atom of SFy
respectively are

SF4 &' Bo¢s8 D8P 2080868, T P (o wobB 28 TS © Voa
QAT
Options:

v sp°d. 1

o o
S sp3d”. 2

Question Number : 127 Question Id : 5500532367 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

Elemental sulphur is known to exist as S; (in vapor state) at 1000 K. At this
temperature, if 1 g of sulphur occupied 2.5625 L, its pressure (in atm) is

(Assume, Svapors follow the ideal gas equation. Given, R = 0.082 L atm mol™ K™)
1000 K &¢, domeg D016 Sy (72 ?86956) ErnoeS Gotwod. & egega 56,

13N e,r&bw 2.5625 L 0d00arm) 8509, T 20 atm o
(Semarye e566) Tafn DLEEPD) FERED BRE R0, FDIA

R=0.082 L atm mol K7

Options:

]WI.O

> ¢ 0.5

Question Number : 128 Question Id : 5500532368 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

At T (K), a gas obeys kinetic gas equation. At this temperature, for a given number
of molecules of this gas, the value of PV is x. If the number of molecules is doubled,
at T (K). the value of PV would be :

T(K) 96, &8 Traing) domiaio 2ansemd) 8008, & aal'td 96, adyd
T°ORN 9EVHV «“0033553, PV densd x. T (K) bg T°O4N 9EVR) 700335 6@01@)
oA, PV ded doh?



Options:

Question Number : 129 Question Id : 5500532369 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

An organic compound contaming C, H and N has 72.7% C, 13.1% H and 14.1% N.

Its empirical formula is

C, H 0803w N e do a8 Sdaé 703)&@«602‘36 72.7% C, 13.1% H 0808w 14.1% N

&) Q. T VAP 3"63&@

Options:

| CeHyy N

C.H;;N

2.9

_« CHN

4 % C6H13N2



Question Number : 130 Question Id : 5500532370 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:O0
If for an 1deal gas reaction 2A(g)+B(g) — 2C(g) the standard internal energy and

entropy changes AU”, AS"are -8.80 kJ mol™. -50 J K™ mol respectively at 300 K.
which of the following statements is correct?

300K &¢ 2A(g) +B(g) — 2C(g) e5t56\aroh0i)p) 6{% DAre wodd8s,
dotffe> 08" Sy A7, AS” e Scoore -8.80 kT mol ™. -50 TK mol™” eronw
308 DIEHVY’ B WBHE?

Options:

AG® =—3.71 kJ mol™ . the reaction is non-spontaneous

AG® =—3.71kJ mol™ . e 8¢9 56

1 ®

g & | . ;
AG® =3.71 kJ mol™ . the reaction is spontaneous

AG® =-3.71 kI mol™ . evao&) 5,8 365
2. %

e -1 —
AG" =3.71 kJmol ™. the reaction is non-spontaneous

AG® =3.71 kI mol™. DODG) S 56
3.

AG® =—26.29 kImol ™, the reaction is spontaneous

) AG® =-26.29 kI mol™ . evatosy 5,¢ 565
4,



Question Number : 131 Question Id : 5500532371 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

On complete combustion of one mole of butane according to the following equation

C Hy(8) +0,(8) 40, (8)  SH,O)

b

the standard enthalpy of the reaction is —2879 kJ mol™. If the standard enthalpy of
formation of CO, (g). HyO(l) are -394, —286 kJ mol” respectively. standard
enthalpy of formation of butane (in kJ mol™) is

CHy ()20, ()40, () 5SH0(8) 550 a8 76 gl

-

QP8 e Sabrr 6] 0 Joerdy ~2879 kI mol~', €0, (7). H,0(§) ©
DA VoFE Doz;r?)b & S0P =394, —286 kI mol~ e w0 wgﬁé
QR0°E V03I Qow?)c) (kI mol” o)

Options:

 « 3006

Question Number : 132 Question Id : 5500532372 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The equilibrium constant for the reaction,
H,C0,(aq)=2H" (aq)+CO: (aq)is 2x10™"
The equilibrium constant for the reaction,
H,CO,(aq)=H" (aq)+HCO; (aq) is 4x10~

The equilibrium constant for HCO; (aq)=H" (aq)+CO: (aq) is
H,CO, (aq) = 2H" (aq) +CO} (aq) , 655 008720 [orosidn 2x10™
H,CO,(aq)=H" (aq) +HCO; (aq) , 3§ 2:202"28 dorogitn 4x107
wowd HCO; (aq)=H" (aq)+CO} (aq) S65% 12080 Ro0sin
Options:

(4107 )+(2x1077)

1 E

4%x1077

, 2x107Y

L v 5x1077

L% gx107*

Question Number : 133 Question Id : 5500532372 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The correct equation for K_ for the following reaction is
(1= liquid state: g = gaseous state).

308 3610, K, 8 208G 208680

(1= 82903; g = Trasn 23)
R @
A(D+B(g)=C(g)
Options:
o LT

8]
2. % Kczﬁ
[A][]
el =
_Ldl
L)

Question Number : 134 Question Id : 5500532374 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Match the following
ListI

(Type of hydride)

A. Electron-deficient

B. Electron - rich

C. Electron — precise

D. Interstitial

308 TPAD BSHDEREW
T |

(r&& 850)

A. cDQ)'eo:"zS () m&%é B
B. aogé e QST
E. cDo'g"S e sﬁ)‘)éorw (gl 3%0

D. @@Doém#

The correct answer is

VOADD VAT

Options:

ListIT
(Elements of the group)
I group-4
II. group - 14
III. group - 13
IV. group - 15

V. group - 1

e 1
(B Sareseen)
Loy -4
I ¢z - 14
0L &) -13

V. °2)- 15

V. 553 - 1

- A=IL B €1, D-IM

, « A—HEB -1 € -1V, D1

v A=ILEB—IV G =11 1)=]1
3.



« A=TV; B—LC—V, D—HI
4.

Question Number : 135 Question Id : 5500532375 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In aqueous solutions the strongest reducing agents in group 1 and group 2 elements
of periodic table respectively are

3560 283 &'V §rd 1 DBokw (rd 2 Aresed’d vduud $obsdme

T8 auEdErd Sdm

Options:

. Li, Be

5 % Cs. Ba

LV Li. Ba

. Na. Mg
4.

Question Number : 136 Question Id : 5500532376 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The correct order of atomic radii of Al. Ga. In. Tl i1s

Al Ga, In, Tl © D870 T (DT 08 gadvo

Options :



Ga<In<Tl<Al

1.%

- Ga<Al<In«<Tl

, Al<Ga<In<Tl

L% Al<In<Ga<TI

Question Number : 137 Question Id : 5500532377 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Among the following the correct statements are

I. Carbon black is obtamed by burning hydrocarbons in a limited supply of air

II. Carbon black is obtamed by burning hydrocarbons in absence of air

III. Coke is obtained by burning coal at high temperatures in a limited supply of
air

IV. Coke 1s obtained by burning coal at high temperatures in absence of air

$06 B DB Tjfen

L ES6)S 00 088 T’ 0dR 5°6)S T 0dos

[L3ES6)S 0 ™ G0t 0l 56\ JT'é 00

IIL 6 & 0808 S 68 aide 56 0dy §§ 008

IV. £ % ™ Shorr 088 s 98 2004Y §§ 003008
The correct answer 1S

2BG3% RAFEFR0

Options :



L IV only

[ IV &5e¢gsan
1.V

I1. 11T only

I1. III &5
2. %

I1. IV only

IL. IV &oreda
3.%

L. IIT only

L III soeghadd
4. %

Question Number : 138 Question Id : 5500532378 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Match the following

308 a3 BN
List-1 List-1I
& -1 & - 11

A. CHy=CH, I Electrophilic substitution reaction
Jog 295 HBED ¢

B. 9 I Nucleophilic substitution reaction

CH;,—C—CH
$ ? méécﬁrfb@é DOEDE S0

£ @ [T  Electrophilic addition reaction
Jo_%f D5 Hogd 56y

D.  CH)CI IV Nucleophilic addition reaction
w§§o3r33§)§ P08V w6y

The correct answer 1s

0% DATEEH0

Options:

- A-I. B-II. C-III. D-1IV

2$$A—III. B—Il;, €W, B-—1

, A-IL B-IV. C-1L D-II



« A—II, B-1, C-IV., D-II

Question Number : 139 Question Id : 5500532379 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:O0
The decreasing order of pK, of the following aromatic amines

806 AdWED 583D DD © pK, dedw &% $0

NH2 CHQNHQ \N/CH3 \N/CH3

(a) (b) © @

Options:

, @ > ) >@ > (©

1.
. (@) = (c) = (d) > (b)

3. (b) = (d) >(c) > (a)

) >© > @ > @

Question Number : 140 Question Id : 5500532380 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



CsCl crystallizes in a BCC structure. The radis of cation and anions are 165 pm
and 182 pm respectively. What 1s the edge length of the unit cell?

BCC ey s’ C5Cl 0838600 So6od, SROIRS 208050 8dairg Tjwdo
S 165 pm 80k 182 pm eond ahrdES 26 dg), woik T Jod?

Options:
- 400 pm
) ® 410 pm

3 420 pm

4% 430 pm

Question Number : 141 Question Id : 5500532381 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Match the following

308 TP DB,

List —1 List —1II
T 1 e — 1[I
AT Li1iKym
B. AT, II.iKem
C..AL ITI. 1 CST

PO _P - s ! N\
B2 IV. 1[ = J
P 1, +1n,

The correct answer 1s

RO VDI D0

Options:

].JA—III. B—l; €=1 D=IV

« 2B B=I, €=dl D—1
2.

3 A=l B=llly E=IV; D-1II
4 % A-II. B-IV. C-II. D-I
Question Number : 142 Question Id : 5500532382 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



1.06 g of NayCOj3 (molar mass = 106 g mol™) is dissolved in 500 g water. What 1s
its molality?

1.06 g © NayCOs (2rer6 $id50°3 = 106 gmol'l) 500 g © RS’ $6R0eT. T

200098 dogs?

Options:

| 02m
, ¥ 0.02m

2
- <1

L% 0.04 m

Question Number : 143 Question Id : 5500532383 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
At T(K). the electrode potential of A%*(X M)|A(s) is — 0.2285V. The value of
y -1 s g o _ y ;‘
Xinmol L™ is (GivenE .  =-0.14V)
T(K) Nl AT (X M)|A() Dog & 3810 —0.2285V. X Dewsd mol Lt e’
(ady%8 E .., =-0.14V)

Options :

, % 0.1

, % 0.01



3 ® 0.02

, v 0.001

Question Number : 144 Question Id : 5500532384 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Identify the correct statements about order of reaction

I) It 1s equal to sum of the powers of concentration terms in rate equation
IT) It 1s always a whole number

IIT) It is determined experimentally

IV) It is not applicable for complex reactions

B07 S80S0 Doerodor) VEALD dfw Hotsoc:

I) 26 Bt DAEBE0S" TTEd DEF0 AFErosTe AVGEIS DAFH0
IT) @6 QY w8 PY Dowy

IIT) &AD Hodr(s e gorr ngw§°d>

IV) 28 2083 S6[0 S0t

Options:

[ & II only

_ Tovdotn 1T argd
1.

IT & IIT only

_ T80 I S
2.



[ & IIT only

| Tandasn IT &rgd

II & IV only

_ L8 IV argdd
4.

Question Number : 145 Question Id : 5500532385 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the macromolecular colloids from the list given below

Synthetic rubber Rhombic Sulphur Sodium Stearate
I I I

Cellulose Enzymes Sodium lauryl sulphate
IV V VI

30c8 @ 8 & )i wmEgrangiy MHfodw.

8% duyb 0005 206 Jéiato o3
I II III
SEUCES F W Jdato g G\§
IV V VI
Options :

I. IIT & VI only

. LI & VI &rgd
1.



IL, I1T & IV only
IL I & IV &g

III. IV & V only
I IV & V oz

3%

LIV &V only

LIV & V g
4.¥

Question Number : 146 Question Id : 5500532386 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:O0

5.0 mL of [AgI] / Ag" sol is coagulated by the addition of 15 mL of 0.001 M

potassium 1odide solution. The flocculation value of potassium 10dide 18

S0mL o [Agl]/ Ag” 6 & %0t mdocstrd3 15 ml © 0.001 M Teraato

WOrEE TS SUDHVY Gokod. Teraoho WEIrEE )08 devd

Options:

1.*6

2

W
<
L)



Question Number : 147 Question Id : 5500532387 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The sulphide ore of copper containing iron as impurity is removed in the form of a
slag by adding an oxide of element, X. Identify the element X

06 G ATYE DY’ 06S Lo o8, A &' dwor
Fofocktrds X i durose ciog) 8516 & SHT. sureso X &
ArB0tS0A.
Options :

Calcium

. 5o
1. “

Magnesium

) b)ﬁgi’aoi)o
2. .

Silicon

DOSD

3.¢

Aluminum

 LA0H0
4. %

Question Number : 148 Question Id : 5500532388 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



In which of the following reactions phosphine is not formed?
308 O 36" DD DBEEO?
Options:

P, +3NaOH + 3H,0 —

_, PCL+3H,0-
2.

PH,I+KOH —
3. %

, « CasP, +6H,0—

Question Number : 149 Question Id : 5500532389 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
y ¥ y = e b Y 3t
Observe the following complexes of Co
- 3 ok 3 — 3-
1. [Co(NH, )] ii. [Co(H,0),] " iii. [Co(en);]

The correct increasing order for the wavelengths of absorption in the visible region
for the above complexes is

306 Co™ RoFaroy dodoted

e 3
3=+

i [CoNH,),[” i [Co(H,0)] i [Co(en),]”

2 R09aPe0 &6 Fodods” F o Sdof B 8000 261 $v0
Options:

| 111, 1, 11



5 % i1, 1, 11

3 1. 11, 111

 « i, i, 1

Question Number : 150 Question Id : 5500532390 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following is/are correct?

1. CrO3 15 an acidic oxide

it. Mo(VI) and W (VT) are found to be more stable than Cr (VI)

i1i. All Cu (1I) halides are known except iodide

- o 3t 2t ” i f 2t
iv. The E© value for Cr**/Cr*" is much more positive than Mn*"/Mn

206 O 06 LBEHHB(D)?

1. C1032,8 &5 63 &

. Cr (VI) S8 Mo (VI) o8aty W (VI) e 26259,

iil. 5706 earEd ¢0y ) Cu (IT) FGE e o oTrow.

iv. E© dend Cr/Cr & Mn® Mn” o8 aver Je‘o&b cbvé&éom &ot00A.
Options:
1. 1. 111 only

L L il Pob s MoV



1v only
. 1V &rd
i1, 1v only

11, 1V Sredadd
3. % i

1. 111 only

, w L1il Srgdan

Question Number : 151 Question Id : 5500532391 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A polymer sample contains 5 molecules of molar mass 1000, 3 molecules of molar
mass 500 and 2 molecules of molar mass 250. What i its weight average molecular

weight (Mw)?

28 P26 ToaS & Arerd B3 1000 o wrHen 5, arerd GHo3

500 o e 3 B0k Arerd gap% 250 fio eenpen 2 &7 ow. )
28 DTR0 09T do (Mw) Qoh?
Options:

]$700



Question Number : 152 Question Id : 5500532392 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Nucleotides in RNA are joined by which of the following phosphodiester linkage?
RNA & A SArHEy $06 O VGG 2TOS $R0IRTTON?
Options:

5 .

1.9

)

Question Number : 153 Question Id : 5500532393 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A vitamm (X) 1s water soluble but can be stored in the body. Deficiency of X causes

which disease?

w8 DS (X) S” Sehrbeiond s $6608" o Gotnod. X &' T

DR006?

Options:



Beri Beri

| ® 830830

Convulsions

, % LD & o

Pernicious anaemia

8% o
3.V

Cheulosis

35°DD

433

Question Number : 154 Question Id : 5500532394 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following drug is used on diseased skin surface?

B3 30 60 DSV P T8 Hokd 08 TS &?

Options:

Salvarsan
- 3%)55 )
Tetracyclin

RIMFSIIN

33 e G

2.

3.V



Furacin

PYBOD

Ampicillin

L% DoH1dS

Question Number : 155 Question Id : 5500532395 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following exhibits optical isomerism?

306 T DD vt FETD) VeS8 Fow?

CH3|CHCH2CH3 (CH3),CHCHBr  (BrCH,),CHCH,CH; ~ CH,CH,CHCH(CHs),
CHQBT |CH3
| I Il v
Options:

1

2.

3.

« L I only

., 1L IIT only

» LIV only

4 III, IV only



Question Number : 156 Question Id : 5500532396 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What 1s the major product formed in the reaction given below?

$08 SE(S” DB\ VOO ESDY 0 IB?

/\ Br,/CCly _ '
Ry > (DS SSHED

Options:
1-Bromopropane

-8 ar N odb

2-Bromopropane

L 2- 887 D
2.

1. 2-Dibromopropane

L. 28 i 3ok

3.¥

1. 3-Dibromopropane

L3-2 88205

Question Number : 157 Question Id : 5500532397 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



What is the intermediate in the following reaction?

308 ri)dzgée i)dbé S Al DE?

RCN + SaCl, + HCl ———RCHO
Options:
Amine

]wbi’bé

Imine

2%?,‘:23?_»5

Ammonium ion

e.obrébowo e903T° D
3. %

Ammonia

. 9.‘)215"&:)050”
4,

Question Number : 158 Question Id : 5500532398 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Jones reagent is used in which of the following conversion?
&'y 5°6%0 &0 08 D was&é‘i EDDBIALEO?

Options :

, CH,CH,CH,CH,0H —CH,CH,CH,COOH
1.9 B - - - -



CH,CH,CH,0H —CH,CH,CHO

_ C4H,CH = CH, —C(H,CH,CH,0H
3.

, » CH;CH=CHCH, »2H,CCHO

Question Number : 159 Question Id : 5500532399 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the following

08 T8O BSDGBE

List—1 (Source) List — II (Carboxylic acid)
wdze -1 (aro dordaw) e - 11 (5707)$\d5 es:o)
A. Vinegar (2¢46) I. HCOOH
B. Butter (&) II. CH;CH,COOH
C.Ants  (Devoew) IIl. CH:COOH

IV. CH;CH,CH,COOH

Options:

« A—III B-1V. C-1II
1.
2.ﬁf,.A—III. B-1V, C-1



4_3@A—IV. B=IIL, =

Question Number : 160 Question Id : 5500532400 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Given below are two statements

Assertion (A): Ethylamine is stronger base than ammonia

Reason (R): It is due to -I effect of ethyl group

The correct answer is

306 Bocd {30 QO(RTTO.

DB (A): S3BS D 9277 VoS Lotl LR F6o
s°6e0 (R): €:36 dadurraw odws); -1 Hardo S

DBADD DATTH0
Options:
Both A and R are correct and R is correct explanation of A.

A 2805 R 0 Godr 2359, 208030 R 02088 AL 285 dddn.

'I %

Both A and R are correct but R 1s not correct explanation of A.

, A 0880 R e Gocr A0, 57 R 098008 AL D8 Dd6E 5°C0.
2.

A is correct but R 1s incorrect.

3 v A RGRE 570 R 2JH8 s°c.
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